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Which of the following statements are true
about Ashokan pillars? Select the correct
answer from the codes given below-

(a)  They are fluted. f G oo

(b)  They have polished surfaces:* YELOCS
(¢)  Allof them bear inscriptions.

(d)  Shaft of pillars are monoliths.

(1) a,b,c
(3) b.c,d

Which of the following Gupta Period temple is
not situated in Madhya Pradesh?

(1) Shiva Temple, (2) Parvati Temple,

(4) band d

Bhumara Nachna Kuthara
(3) Dashavatara (4) Vishnu  Temple,
Temple, Deogarh Tigawa

The world famous Myson temple complex is
the legacy of which ancient kingdom in South-
East Asia?
(1) Champa
" (3) Mataram

(2) Srivijaya
(4) Funan
Match list T with List II and select the correct

answer from the codes below-

List I List IT
Commission/ Governor
Despatch . General
(A) Sadler Commission (i) Lord Ripon
(B) Hunter Commission (i1) Lord
- Dalhousie
(C) Raleigh Commission (iii) Lord Curzon
(D) Wood’s Despatch (iv) Lord
Chelmsford

(1) (A)-(iv), (B)-(1),  (2) (A)-(iid), (B)-(i1),

(C)-(iii), (D)-(i1) (C)-(1), (D)-(iv)
(3) (A)-(iii). (B)-(1),  (4) (A)-(D), (B)-(ib),

(C)-(iv). (D)-(ii) (C)-(iii), (D)-(iv)

Q) axdad Jo 8

2.

3.

4.

(b, ST WA TP g |

S if.".i'.-‘.-: (4 B U il

o Wl @ wd § e W W B B

a2 SR ol T Al A W AE SR g

@ &R & g g

() - T i IR aifrere frerd € |

@) @ @ afe (@) TR | |

(1) ab,Cee & #eet bt cd

@bed  (@budd

Taee @ el A Sl k| G |

ey § araRerd & 87

(1) gt BT Rrg wfeR (2) T BOR @
BIEGIREIEN

(3)&%@3%(4)%@@%@;#@?

Afex

fyea v A (e ARR T R

@Qﬁm%%ﬂq@ﬁmaﬁm%?
(1) 9T (2) Ao
(3) AIRM (4) B

Gl 1 B A W gAeRT B I e

ael § ¥ wE W -

T o 11

e /fedd MR SRA
(A) TeeR BitEH (i) s o
(B) TR BT (if) @S Se@l
(C) Yo1 B (iii) TS B
(D) gev feua (iv) TS TRAHIS

(1) (A)-(v). (B)-(1),
(O)-(ii), (D)-(i)

(3) (A)-(ii). (B)-(1),
(C)-(iv), (D)-(ii)

(2) (A)-(ii1),(B)-(11),
(C)-(i), (D)-(iv)

(4) (A)-(i), (B)-(id),
(C)-(iii). (D)-(iv)
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5. Who among the following opposed the Age of 5. T 9 R T 3l e e (1891) T
Consent Bill (1891)? faRTe fasar o?
(1) Mahadev Govind  (2) R.G. Bhandarkar (1) wereq Mfa (2) IR, HeRFHR
Ranade
NG
(3) Bankim Chandra  (4) Bal Gangadhar
Tilak (3) dfbn =g (4) a1ef TR foers
6. What is the Chronological order of the 6. <&a=dT Wa™ & <RI pifaRal grr @ 7E
following assassinations carried out by the TN BT TET BTeAhH a7 27
Co o 3 5
revolutionaries during the freedom movement? (@) WP e —
(a) Assassination of Sir Curzon Wyllie b) S et @ e
(b) Assassination of J.P. Saunders
()  UUAE ST P gar
(¢)  Assassination of A.M.T. Jackson _
d) S ¥ @ o
(d) Assassination of W.C. Rand
(1) (@) (2) (d)
(1) (a) (2) (d)
(c) (a)
(c) (a)
(d) (c)
(d) ()
(b) (b)
(b) (b)
: 3) (b) 4) (c)
(3) (b) 4 (0
(c) (a)
() - (a)
(a) (b)
(a) (b) ;
(d) (d)
(d) (d)
7. The article ‘Why I am an Atheist’ was written 7. org 4 ifTe @l & | forar wrar on—
by-
(1) Ras Behari Bose  (2) Bhagat Singh (1) VeI 91 gR1 (2) W RiE g
(3) Subhash Chandra  (4) Chandra Shekhar Q)P T G (4) T IR e
Bose Azad EIN &I
o,
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8.

10.

Which of the following statements about

Subhash Chandra Bose are true?

(a) He was appointed Principal of National
College by C.R. Das.

(b) Subhash also served as the Chief
Executive officer of the Calcutta
Municipal Corporation.

(c) Later, he was elected the Mayor of
Calcutta Municipal Corporation.

(d) In 1939, he formedl Forward Bloc in

congress.

Choose the correct code

(1) (a), (c) & (d) (2) (b) & (d)

@) b)) &@) @) @, 0).© &
On whose suggestion did Dayanand Saraswati
begin to deliver his public Lectures in Hindi

instead of Sanskrit?

(1) Keshub Chandra
Sen

(2) Akshay Kumar
Dutta

- (4) Ishwar Chandra
Vidyasagar

(3) Dwarkanath
Ganguly

When was the Swaraj Party formed?
(1) December, 1922 (2) January, 1923

(3) March, 1923 (4) December, 1923

8.

9.

10.

wwa‘mzﬁaﬁﬁﬁmﬁ‘ﬁﬁﬁ@aﬁﬂ
A FUT TA &7
(a) & R, TN 7 9% AYEd Pieiol

1 g frga fear |

b) I A Faed TR T @ T
FIe e & w9 H W ®H
foa|

(©) FTETR ¥ d daedl TR E @
TEMR Y MY

) 1939 ¥ S PRE § RIS @ld
&1 TS fhan|

TR T Y-

) (@), (¢) 3R (@) (@) (b) 3R ()

3) b).© 3R @ @ @. b),© IR @

frafofeg # 9 fFe gema W <A
TR ¥ S A ¥ WP b I

R 2= BT FANT BT AIRF fhar?

(1) BIG T FF (2) e FAR

(3) SR TN (4) $IR T%
foaman

WIS U @) AT Ha §S7
(1) feomR, 1922 (2) STFAR), 1923

(3) A, 1923 (4) fouax, 1923
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Page 4 of 24



11.

Which of the following officers were killed by
the rebellious forces of Kota Staté on 15th
October 18577

(a) Major Morrison

(b) Dr. Sadler

(c) Major Burton

(d)  Captain Showers

Choose the correct code

(1) (a), (b), (c) (2) (b), (c)
() (@), (), (d) 4) (¢), (d)

11.

fFrfeaT # & 57 ool @1 s 15
S, 1857 T PIeT B G Ioiarg
IR

(@ AR HIREHA

(b)y = dser

(c) HoR g9

(d) Bed vied

e B B TAT BT

(1) (a), (b), (c) (2) (b), (c)
(3) (a), (c), (d) 4) (c), (d)

12. Which newspaper was used by Vijay Singh 12, fobq w9eR v3 @ wram @ Row Rig ol
Pathik to publicize Bijolia Peasant Movement A fasiiferar fam arele™ @) wE qRe
throughout India? TH &1 5y g97a7?

(1) Naveen Rzijasthan (2) Pratap (1) T ISR (2) Udg
(3) Tarun Rajasthan  (4) Yugantar (3) T TRATH (4) TR

13. Who among the following was associated with ~ 13. . quig wer § e & 9 @19 dafg &2

Shri Vaishnava Sect?
(1) geemTard (2) XS

- (1) Vallabhacharya  (2) Ramanuja

3) = 4) HrR1

(3) Chaitanya (4) Mira ) )

14. Who was a master painter in Akbar’s Court? 4. 579 A DI THIC PR & AR F REGR)
ISR G
(1) Abul Hasan (2) Mushkin ® o
(3) Khwaja Abdus  (4) Ustad Mansur (1) 99t &8 2) g
Samad (3) TAIST Hgd 9 (4) ST R

15. Who was the last to lead the deputation sent by 15, 2rpax 3 fbvia! Rrewves o7 afsm g
Akbar to Pratap to negotiate his peaceful A B fU A" & U Yo, A qg
subjugation? YIfAgEe Efar Wier & qH?

(1) Jalal Khan (2) Todarmal (1) STelTel @f (2) TrEwHE
(3) Bhagwan Das (4) Man Singh (3) WTEE TN @) TFRiE
s
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16. In the following sequence, the missing term is- 16. =1 ¥ # g U8 &
2 4 7 11° 16 2 4 711 16
3. 77 g1 8l 3°7°7 21731
m 7 @7 7 @7
13 9 13 9
3 7 @ 7 3 7 @4 7
11 15 11 15
17. In a certain code CAT is written as SATC and ~ 17. Ue fAf¥d T & CAT B SATC forer & 3R
DEAR is written as SEARD. How would SING DFAR 3 SEARD forar & | 1 o1s 3 SING
. BT D foran S
be written in that code-
(1) BGINS (2) GNISS
(1) BGINS (2) GNISS
(3) SGNIS (4) SINGS
(3) SGNIS (4) SINGS
18. P's father is Q's son. M is the paternal uncle of ~ 18. P @7 faar Q &1 de7 8| M, P &1 UJe A ©
P and N is the brother of Q. How is N related IR N, Q&1 e 2N BTM | Ha qr ?
to M?
(1) 7 (2) i
(1) Brother (2) Nephew '
(3) TRT TS (4) 3T
(3) Cousin (4) Uncle
19. There were 25 teachers in a school, whose 19. T® femera H 25 EATH A | ITDI Y BT
mean age was 30 years. At that time a teacher airge 30 9 o | ST THT U SeaTud, T
retired at the age of 60 years and a new teacher g 60 a§ off, Qaitgd g9 IR tE T
was appointed in his place. Now the mean age seue &) Pyl u s & T T/ A
of teachers in the school was reduced by one | a9 ¥ 1 s oy 1 e
year. The age of the new teacher is - .
| T JFEAIH DI AT o
(1) 25 years (2) 30 years
(1) 25 T (2) 30 ¥
(3) 35 years (4) 40 years ]
(3) 35 a9 () 40 T4
olo
[OA] Page 6 of 24



20.

21.

23.

The empirical relation between mean, median ~ 20.

and mode is-
(1) Mean — Median
= %{'Mcdian -

Mode)

(2) Mean — Mode =
~(Median - Mode)

(3) Mode - Mean =
%(Median - Mode)

(4) Mean + Mode =
Zl(Median - Mode)

Which of the following is not a two 2L

dimensional diagram?

(1) Square diagram (2) Multiple bar
diagram

(3) Rectangular (4) Pie diagram

diagram

. The volume of a cuboid is 140cm?. The areas of  22.

its any two surfaces are 28cm? and 20 cm?’. The

sum of the lengths of all edges of the cuboid is-
(1) 140 cm (2) 160 cm
(3) 100 cm (4) 64 cm

The radius and the height of cylinder are equal ~ 23.

to radius of a sphere. If the ratio of the
numerical values of the curved surface arca of
cylinder and the volume of the sphere is 1:3

then the volume of the sphere is-

HIEY, HIfLAdT U qgeld @ el U TAnT Rig
A B

(1) Areg — WfeAdT = (2) ARG — IGAD =
—(r-age) - (r-age)

(3) TP — HE =
~(eaT-—ager)

(4) WY + qED =
;—(m@aaﬂ—agﬁaa)

= o @ fRemar sva T 82

(1) a7 ?ﬁ- I (2) TEE ARG

(3) ATTATHR ARG (4) TE— 3R

U&H O BT AT 140 TP B | s9D! fha)
ST W8] BT &Thol 28 WHI2 3R 20 WAI? B

T S Tl fHART P oS T I 2—
(1) 140 A (2) 160 WA,
(3) 100 TA. (4) 64 AT

U a9 &I 3507 3R S U el &1 Bsan

@ W g AT I B wHER FaE b

&hel BT RS U R Mol & Amya

b TAHD el B W U 1:3 & Ml

BT I B
(1) 9m (2) 1087
: 1 2) 1

3) 144 ) 243 (1) 9m (2) 1087

7 ' 2 (3) 144n (4) 243n

7 2
0
[OA] %* Page 7 of 24



24. In a party, both types of food, vegetarian and 24.
non-vegetarian were served. Some persons took
only vegetarian food and some persons took
only non- vegetarian food. While some persons
took both types of food and rest did not take any
type of food. Which of the following Venn-

diagram correctly represents this situation?

2)

© @

(1) .

3) . @
25. The number of different divisors of the number ~ 25.

27720 is- )

(1) 6 )5
(3)4 ) 7

26. et fadey # Terq wi—fawoy 87
1)  demr = ud + el
() QAT = T +
3) S9gad = SuR + S&

(4) QST = T2 + 2

v et H, RN Td AR A GPR B
o R R | BB Al | dad ABER
Ao foran ik v el 7 dae AER]

o foran| e g feqdl 3 &l gaR
&1 HioH foram ok ¥ A AT F YBR &

Ao T8 forar| frer § 9§ S d9-3md
= Rufy &1 W8 YoR | YERid Fvar g7

1) . @) @
3) . ) @
O

27720 G & AT 9T WISTdT BT AT
3

(1) 6 ()5

(3) 4 )7

s
[OA] %* Page 8 of 24



27, < Rrer w4 S S e 2 g 22

1) @
(2) e
3) iiw
@ emyfre

28 fyeifen & < fopr famren & fyeim o g 87
(1) B9 - uRe™
(2)  Sfeel — e
(3  ®Rd -3
4)  @grE — fawrg
29. T W ol Uw g T 87

(1)  SIRRR

2) fFR~=TOT

(3)  SEUE

@)  faarR

30. fy=Tifda el w e Sifvre—

@) @ @  egomT
@)  ®ie @) dre
3T 9 s famd -

3 ()R @

@ @) R @)

0
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31. Choose the grammatically correct option:

If he were to reach the venue in time, he.......... have to hurry up.
1) will
2) would

(3) would be
4) must be

32.  Choose the correct preposition:

They live....... us on the ourth floor.
(1) below
(2) under

3) besides
4) within

33.  Choose the correct degree of adjective:
A car’s price is usually................ than a bike’s price.

(1') cheaper

(2) lower

3) more expensive
4) high

34.  Which option is not the antonym of ‘Obedient’?

(n mutinous
2) stubborn
3 dutiful

@)  disobedient

s
[OA] %° _ Page 10 of 24



35. Give the correct passive form of the given sentence:
“We saw them go out.’
(1) They seen to go out.
(2) They were seen to go out.
3) boing out was seen by us.

4) They are seen to going out.

36. Census 2011 was which census survey? 36.
(1) I31h . (2) [4”}
(3) 15" (4) 16"

37. What among the following is not included in  37.

the “Chief Minister’s Seven Point Programme

for Women Empowerment’ in Rajasthan?

(1) safe motherhood  (2) population

stabilization

(3) providing safety  (4) counselling for
and safe Divorce
atmosphere for

women

STIUFT 2011 DI AT STFTOT FIeTor 272
(1) 13 df (2) 14 df
(3) 15 df (4) 16 df

RNESI gwsﬁfﬁnﬁwwﬁﬁwég
I A SR H, frifed § 9 e wme
el 87
(1) grfera e (Z)Wf@ﬁw
(3)%1%?«113%%@% (4) Telrd @ forg

Vg RIS iRy R

YT AT

&
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38. The photograph of which Indian Scientist has

39.

40.

been recommended to be printed on 50 pound

note in United Kingdom?

(1) A.P.J. Abdul (2) Meghnad Saha

Kalam

(3) Jagdish Chandra ~ (4) Homi Jehangir

Bose Bhabha

Which one of the following films was not

directed by Kalpana Lajmi?

(1) Daman (2) Ek Nazar

(3) Rudaali (4) Darmiyaan

Who among the following Judges of the Five —
Judge Constitution Bench of the Supreme Court
in the Aadhaar Scheme and Act case on 26
September, 2018 dissentéd from the majority

verdict?

(1) Justice A. M. (2) Justice D. Y.

Khanwilkar Chandrachud

(3) Justice Ashok (4) Justice A. K. Sikri

Bhushan

38, geEee e 50 UGS @ Al W

39.

40.

TS e @ TR B B RAwmRe @
T 87

1) T . O, g (2) HEAIG TR
HAH
(3) SR T 4 (4) B SRR AR

fp=ifhg &, B — W U hed e

o gRT Pl T8 8
(1) g5 (2) Th TR
(3) Berel! (4) e=iHat

26 Ridar, 2018 B MR AreT vd i
arg # Ieaqd ATed @1 Ut A o
W e & Freifed <R 4 ¥ e
qgAd & o 9 srrEia <

(1) = T T
GHfddd

(2) = & O,
ELES

(3) =Tt o
T

(@) = T .
KIER]

[OA] %°
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41.

42,

43.

44,

At which place in Uttar Pradesh, the recent
Archaeological Survey of India excavation has
discovered several burials dating to 2000 B. C.

E.?

(1) Sanauli (2) Hastinapur

(3) Basti (4) Domariaganj
Who is the author of the Book ‘Intertwined

Lives’?

(1) Jairam Ramesh (2) Shashi Tharoor

(3) Pritish Nandy (4) Jhumpa Lahiri

North Sentinel Island is located in -
(1) Arabian Sea (2) Bay of Bengal

(3) Indian Ocean (4) Palk Strait

Consider the following statements regarding

~ Virat Kohli -

[ He is the 13th player in the world to
complete 10 thousand runs in One Day
International matches.

I1. He took 210 One Day International

Innings to reach this achievement.
(1) Only ILis correct  (2) Only Il is correct

(3) Both I and 11 are
incorrect

(4) Both I and 1I arc
correct

41.

42,

43.

44.

IR & QRIAIaS FaerT & giferar Segi 4,
SR Y9 & {59 W W 2000 61 ) € B
el @l g §?

(2) BRATTR

(4) gARETTS

(1) Tl

(3) Tl

IRCAZTS olgesl’ J&Id & ofEdd / ciflaa!
HF 8?

(1) SRR =T (2) 9131 o

(3) wiferer =ia @) 7 anfee
I dfedd 21U o Rea & —

(1) 39 AR (2) T BT WIS
(3) &g FeMrR (4) I AT

fve ®igell. & Gy o AEifeg wFl w®

faem @ifog —

I & - fRgd Rl #9f § 10 g9
¥ R B el 9 R B 13¢ Jooiar
gl

. 39 SUdfer & afsld oo § 3=
210 U — feavig iRt et
ercill

() @9 1| 81 (2) B 11 G&T 2|
(3) 1 d Il € et (4) 1 U9 11 S &8
gl ' Bl

[OA] %*
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45.

460

47,

48.

5th Asian Men’s Hockey Champions Trophy,

2018 was organized at -

(1) l{uaiﬁ lumpur (2) Bhubaneswar

(3) Muscat (4) Seoul

Which one of the following elements has

atomicity equal to one?

(1) Sulphur (2) Chlorine

(3) Argon (4) Oxygen

The reaction NaxSO4 (aq) + BaCl (aq) —

BaSOy (s) + 2 NaCl (aq) is the example of -
(1) Reduction reaction (2) Addition reaction

(3) Decomposition (4) Double

reaction displacement

reaction
ST unit of momentum is -

(1) kilogram — metre  (2) gram — centimeter

per second per second

(3) newton — metre per (4) Joule — metre per

second second

45.

46.

47.

48.

7oy Bfe @ 541 RIS AffR ST, 2018

T IR el g3l —

(1) zg,an?ﬂ R (2) YaTEaR

(3) A%HC (@) e

frafoReaa § 9 {59 d @ WAddT Th
B 7 |

(1) e (o) (2) FARM

(3) A (4) aiferdie=

AT Na»SOs (aq) + BaCl (aq) — BaSOs

(s) + 2 NaCl (aq) STTERT & —

(1) JTaae i (2) dar srfafhar

P Cl
(3) ages fdfpar  (4) fafvens
@1 arfafehan @1
T BT S| AES ® —
(1) farm — dlex (2) UTH — Hhriey
IREEAS] ufd AHve

(3) e — Wiex Uiy (@) 9e1 — Hiex ufd
eSS A

[OA] %°
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49,

50.

51.

52,

53.

A normal baby girl receives her

chromosomes from -
(1) her father only (2) her mother only

(3) her mother and
father both

(4) either her mother
or father

Coliform bacteria are found in which human
organ?

(1) Heart (2) Intestine

(3) Kidney (4) Liver

The office of India’s President does not

characterise ~ the combination of the

Governmental Systems of-
(1) Parliamentary and (2) Republican and
Republican Democratic

(3) Federal and
Parliamentary

(4) Presidential and
Republican

The predecessor house of ‘Council of States’
was-

(1) Central Council ~ (2) Chamber of

Princes

(3) Central Legislative (4) Council of State
Council

Who is the highest ranking civil servant of

India?

(1) Chief Secretary ~ (2) Cabinet Secretary

(3) Principal Secretary (4) Principal Secretary

to PMO to the President

X 49‘

50.

S1.

52.

U |G dTfereT Rig) o X TORE U
HCAl 8 —

(1) ®9a 3 fUar | (2) daat a9 AT

(3) 3197 =T Fr (4) T1 o g g 9
foar <=1 @ 7 39 far 4
BIABH SHETT] B | A9 [T 9RO

g7

(1) g (2) 3ifd

(3) ga (7ai) @) g

NG & KU & UG MBI gunferar @

fg wamT o gRaret 78 Fear &

(1) |9<™ wd (2) MY TG
HNRER GICSIEET

(3) GHIg Uq e (4) ETeHS U

HUREIR

NIST FIT BT Yeadi HeA -

(1) e drefyar (2) TR 3 a9
(3) ¥ger dftredfes  (4) wrefia offs we
CIRINE

53. YRa &1 Hald ol &l fufde 96 d 87

(1) 5=1 wfa (2) Amvsa g
(3) Ul & guE  (4) Il @ weEr
afig afera

[OA] **
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54.

n
Ln

56.

How many Political Parties in India are
recognized as National Party by Election

Commission of India?

(1) Four (2) Five
(3) Six (4) Seven
. With how many senior most Judges of the

Supreme Court, the Chief Justice of India has
to consult before making recommendation for

appointment of Judges to the Supreme Court?

(13 (2) 4

)5 4) 6

Consider the following statements-

(A)  Aravalli restricts the eastward
expansion of desert.

(B)  Aravalli region is rich in minerals.

(C)  Distributional pattern of rainfall in
Rajasthan is not affected by ~ Aravalli.

(D)  Several rivers of Rajasthan have

their origin from Aravalli.

Select the correct answer using code given
below-

(1) (A). (B), (C)are  (2) (A), (B), (D) are

correct. correct.

(3) B). (C), (D) are  (4) (C), (D) are

correct. correct.

54.

56.

R @ frared S gRT fhan oHIae
aﬁﬁﬁﬂﬁuwéwﬁwwﬁ
LR

(1) IR (2) Ut

3) © (4) ard

. Sead =grarera ¥ = 1 i &g

TR B W, ARG & JE AR B
ST AT & fpan aReedy =rade
} WH oA Bl &7

(13 (2) 4

35 4) 6

forferRaa weml W R S

(A)  3RTTel FoRee & QAT fARAR Dl Il
2|

IRl & @il # W9 ©

ISR ¥ 99 &7 faaRor yrey aRTdel!
{ goifad = B

SRR P 3 AT BT SETH el
NI

I foU 7Y e B TR § Wl ST B

FA1G BITC—

(1) (A), (B), (O)FE  (2) (A), (B), (D) W&l
g | gl

(B)
(©)

(D)

(3) (B). (C), (D) T&I (4) (C), (D) &l gl
gl

[OA] *°
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37. In which months lowest diurnal range of

58.

temperature is found in Rajasthan?

(1) January and (2) May and June

February

(3) July and August  (4) October and

November

Which among the following districts registered

lowest child sex- ratio (0 to 6 years) in 20117

57.

58.

RIS ¥ R[ATH <6 qaR B9 3 Al

¥ grar e 87

(1) S Td BRA (2) WS TG S

(3) JoIiE T4 T (4) AT U IR

frefoRaa 4 @ o el # 2011 & ~gAaw
arel fefrgur (0 ¥ e @) sifda foar war?

(1) Karauli (2) Jaisalmer (1) Hren (2) HFAR
(3) Banswara (4) Tonk (3) FiEaTSl @) P
59. Identify the wrong pair? 59. T g B GHAg?
Minerals Mines @frer LCIG]
€)) Limestone - Kanoi (1) AT TR = FS
(2) Magnesite - Sendra 2) e _ Q}I‘ET
(3) Emerald - Kala Guman 3) ' — - HTelT T
(4) Bentonite = Rajgarh .
e @ dmE - e
1)1 @) 2
@M1 2) 2
3)3 ) 4
3)3 4) 4
[OA] %* Page 17 of 24



60. Which of the following city is not connected  60. fore & | S TR ‘Zjﬁ~qﬁﬂq HIRER ¥

with Bast-West corridor (NHDP-11)? ST el 82T vE S u-)
(1) Kota (2) Udaipur (1) ®IeT (2) SETR
(3) Jaipur (4) Chittorgarh (3) TR 4) frdireTe
61. Which of the following statement is not true  61. ‘faemerd gEREET & Wed H fifhd H W
about School Mapping? G T PAF W el 87
(1) Itis asetof (2) Itis used to _ (1) g8 fafy=1 gaal (2) 3T6T Yam
techniques and identify future g wisharell a1 T &R W
procedures. needs of education NP W B ST ¥1fE ‘5
S FITIHARI DI
at local level. B for
(3) It merely denotes, (4) It aims of planning fdam e & |
marking on a large ~ for measures to be (3) 39T 31 B (4) $ABT T AFTHI
scale map, the taken to meet v qS AFRE W, e s
location of existing  future needs in 4
; WA (Location) forv Sorl oM
school. education. Rrefia FeT 2 arer weH W
AT G E |

62. As per the RTE Act 2009, what should be the ~ 62. Rl &7 SEER SI 2009 & SHR TR FIE
punishment if a school receives ‘Capitation faermera HiCe™ Yod o 8, 9 RGBT

Fee'? 71 g€ 3 SIF 1 graw g7

(1) Upto Ten Times of (2) Upto Twenty (1) for w1 wfegfan (2) ferd 73 widefad
the capitation fee Times of the e & o5 T e & @ T
charged " capitation fee e s s

charged

(3) forr w1 ufcraafm (4) ford 13 ufvedfaa

(3) Upto Thirty Times (4) Upto Ten Times of -
b g . eF B A AT e D &8 T

of the capitation the capitation fee _ _ _
; dTmadfds 0 o afce U
fee charged and /or an
imprisonment of
EAREIES

one year

4
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63.

Which of the following statement is not true

about RTE Act 20097

63. f=Tifdd 4 & B A1 e &1 SIRER B

2009 & wed # |E 7 2?

(1) Section 17 of RTE (2) Section 14 of RTE (1) ST 9T — 17 (2) SHDI 4T 14
Act prevents Act (2009) I ) T A e yfefy b
punishment to prevents collection BT 2| TR BT FIvy
children. of capilation fee. T Y|

. . G e
(3) Section 21 of RTE (4) Section 28 of RTE 3) S o @ ——
Act (2009) deals Act (2009) deals , .
fermer wder Rrerdi & Foh
with provisions of with prevention of
_ o AMFY 1 graem= SR Bl g
School private tuition of :
g | BN & |
Management teachers. :
Committee.
64. In Union budget 2018-19 Sarva Shiksha 64. <1 doic 2018—19 ¥ Fd en A &1

Abhiyan is merged in - AR ] fear T & -

(1) Rashtriya Ucchtar (2) Pandit Madan (1) T Serar Rer (2) Ufed wiew Higa
Shiksha Abhiyan Mohan Malviya g § ey Mo &

Mission .
(3) 9HU T2 g (4) B ey ud

(3) Samagra Shiksha  (4) No option is =~ ST

Abhiyan correct
65. What is the correct sequence of activities of 65, I wWR W R&ery A9RE TUR &3 &

preparation of a school map at local level? fore =T srat &1 GE B9 P9 ar &7

(1) Diagnosis — (2) Projection — M) frem = gagor () g — B
Projection — Diagnosis —

4 —TURTT — U
Proposal Proposal ; :
' - Q) gy — fem @) fem — wa@r

(3) Proposal — (4) Diagnosis — &
Diagnosis — Proposal — —WeE —>HEHY
Projection Projection

ole
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66. Which of the following is not included in 66. Preifra ¥ ¥ B W BT B g1 el
‘Functions of Management’ as described by T e B R wwRE 2
Henry Fayol?

(1) Planning (2) Organizing (1) o fRTeT (2) TS
(3) Commanding  (4) Budgeting (3) W (4) gre {3

67. Which of the following statement is not true 67 fdermeri ¥ foe @ Al $ ded |
about “The Culture of Separation in School’? fyerifra o BF 9T B & T8 87
(1) It encourages (2) It makes teachers 1) 78 P wH  (2) TE Rt @l

Individualism reluctant to share o AT G
" -l Td gEee @ drd
among teaching professiona
s T o N g
staff and problems. T 3
TR e 2| '
management.
(3) Encourages (4) No option is CIE 3l @) @l 4l Wl
teachers to be correct. s HoEd & T T
more helpful in SIKERD ZREI
institutional 3y wEdr o
improvement & Wicnfed dxl
group gl
programmes.

68. The apex academic organization for —68. IO ¥ e ud srearus R & A
educational planning, implementation and forafor, foparaa vd qeaied & for qdred
evaluation for school and teacher education in glférer | (Academic Organization) B~
Rajasthan is - (1) T9. 38, §. 9IR. (2) 378, T Q4. &, ,

&, AR CIGIEN
(1) SIERT, Udaipur  (2) IASE, Bikaner
_ S AmE T, (4) AR IR,
(3) DIET, Jaipur (4) RIE, Ajmer G4 Sk Silg € @ I %
| (813¢) SR TR
OA] *¢
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69.

70.

71

Which of the following district is not covered
by CTE (College of Teacher Education)
Hatundi for In - service teacher training?

(1) Tonk

(2) Nagaur

(3) Bhilwara (4) Kota

In India the first version of DISE (District

Information System for Education) was

released in which of the following year?
(1) 1994

(2) 1996

(3) 1995 (4) 1997

The first step of development of an EMIS is -

(1) Defining goals and (2) Identification of
objectives data needs

(3) Establishment of

(4) Collection of data

Databases

09.

70.

74

arbIend Rierd gfdenr g, e § 9

o W e ;A L Ree alew

AETfdeTerd) BCUel & Ifchia -TE) 3 87
(1) <& (2) MR

(3) ¥rerarsr (4) BreT

9Ra # DISE (District Information System for

Education) &T Y9H Uiy feifad & @ fog

q9 SRY fpar Tar?
(1) 1994 (2) 1996
(3) 1995 (4) 1997

UHh EMIS @ fdBRT &1 Yo w0y & —
(1) o1& Ud S22l Bl (2) STCT ATqTIHAR]]
gRYTE HRAT

Pl UgGH

(3) SICT¥ P AT (4) T BT

[OA] **
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72. As per the DIET’s ranking 2017, conducted by 72 T¥. g, $. IR, 3. AR g A T T

SIERT, Udaipur, which of the following DIET HHT 2017 B AR, freifea § 9 @I AT
is at first position? TTET U9 W W 87
(1) DIET Kota (2) DIET Alwar (1) TE BT (2) TTEE IR
(3) DIET Pali (4) DIET Nagaur
5 (3) SrET e (4) STT TR

73. The first DISE project in India was funded by ~ 73. #ika @1 G Srgd (DISE) GRS B

which of following International Agency? Rrerifrg & ¥ g iR a=en g1 faciiy

(1) UNICEF (2) UNESCO HERIA S&r @l T oA

(3) Child International (4) School 1) =% 2) T
International

(3) TTges SeRAA  (4) T EAGEG

74. Upon recommendation of which of the 74. i § 9§ e Gy o ST @ JTER

following committee, SIERT Udaipur was

R TH. 5. 3. IR, L. ITAR DI AT B

established?
Ty oY?
(1) Verma Committee (2) Yashpal
Committee (1) gt At (2) gEOTe Ak
3) Mehrotra 4) Paliwal Committee
3) 1o (4) Paliwa mitte (3)E.F R @ S Rt
Committee

’
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75. Which of the following is not true about RIE,  75. &g Ry e (RIE) 3R & Hay §

Ajmer? \ Fr=ifed 4 9 B9 A1 HorT T T &2
(1) It was established  (2) The admissions are (1) SD! TRITTAT 1963 (2) §9 G § Ha9r
in the year 1963. given by Rajasthan ¥ ) T | RIGIRIT Jga
Common Entrance r -
Exam. i T 2|

(3) Itis affiliated to  (4) It is controlled and ] )
(3) U8 UH. ©. TA. (4) TP YT v

‘MDS University, managed by ‘
favafdenery, =T TR

Ajmer’. - NCERT
IR U WAeg B MR oRar B

B
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